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M N2
Hu: UUE &=
=Rl M2l SE2te EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0JHOIEE MAMOIH ASTz
2,200,000& 2,200
o MAYF NHIA OlEZ
1,100,000 1,100
303 Zal= 12,600 12,600
01 2= 12,600 12,600
ONe=LHREI [HE RSFA Z&= 2,600
0E R 1,000,000 * 14 A 1,000
0= 500,000 *20H 2 A 1,000
o0& 300,000 *20H 2 A 600
OFANA+g Rz 10,000,000& 10,000
308 XtXIEMSO0IH 38,546 28,564 9,982
11 SIS0t 4 A A A 38,546 28,564 9,982
OHZ=XNLHML+=LISAIAE FA22IH|
2,380,0002 2,380
OXNIIXIZ A+ LB BAIAL FXI2e
uf 36, 166,000 36,166
405 AtatE = 240 210 30
02 =A-EHI 240 210 30
ONIel=g 2ted A F2H|
80,0003 *3 240
AY 2L ZHI (N2 93,982 91,636 2,346
ol 2dHI(MIS21) 48,027 46,364 1,663
IHA2HH] NISA(AR21) 48,027 46,364 1,663
101 21AH| 37,911 46,364 A\8,453
03 SRA(RIH) 222+ 37,911 46,364 28,453
OZ2RA2ZTHEES) 37,911
oJlEs 2,011,700 128 24,141
oJIE+E 60,0002~ 12 720
oA=&
10,6502 x30A1 2+ 150%+ 122 5,751
o FAUZAHI 140,000« 12& 1,680
o BEFIHI 2,011,700 x60%*22] 2,415
o girE+E 10,6503 *BAI 2Hx 16 1,278
od2=¢ 2,011, 7002 «25%+23] 1,006
o8I 25,0002~ 122 300
o A=H 50,000& * 122 600
o XMISEAHI 20,0002 20
04 HSRESS 10,116 10,116
04 SR (RIH 22X BE=RES S 10,116 10,116
O&lX= 84,3003 x30 2 x4 10,116
Jl238I(HIS2) 45,955 45,272 683
Jl=2ZHl NISAY (MS21) 45,955 45,272 683




M N2t

Hu: N2 2| (H22D)

ool D=2l (MR21) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 30,305 28,808 1,497
01 At2teltl 30,305 28,808 1,497
Oget+=ZHI 54,5902 x262 » 12«00k 15,329
o=l 8,0003 x26H 641 x 122 14,976
202 04| 9,720 11,664 A1,844
01 2K 9,720 11,664 A1,944
OEF0HI 10,0003 » 18 x5+ 123 9% 9,720
203 gF=4| 4,800 4,800
M EASHLRFAH 4,800 4,800
ORNESgER=aHI 400,000 =123 4,800
405 AHaHE = 1,130 0 1,130
01 MMM ESFSHI 1,130 0 1,130
OAIRE Ji7 7¢ 1,130
oNMEEIY 174,000 *1H 174
o ItZIHHIR 116,000 *1H 116
o0ISAME 168,000 «5H 840




